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DIPLOMA IN WATERSHED MANAGEMENT 
(DWM) 

Term-End Examination 

June, 2018 	00108 

BNRI-102 : ELEMENTS OF HYDROLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : 
	

(i) 	Attempt any five questions. 

(ii) All questions carry equal marks. 

(iii) Use of calculator is permitted. 

1. What do you understand by mean rainfall over a 
watershed ? Explain in detail the method of 
Thiessen Polygon for estimating mean rainfall over 
a watershed. Enumerate the limitations of the 
method also. 2+6+2=10 

	

2. 	Define the following : 	 5x2=10 
(a) Channel Lining 
(b) Evaporation 
(c) Percolation 
(d) Cloud Seeding 
(e) Drainage Density 

	

3. 	Differentiate between the following : 	2.5x4=10 
(a) Manning's roughness coefficient 'n' in 

Manning's Equation and C (constant) in 
Chezy's equation for determining mean 
velocity of flow in a channel. 

(b) Available water holding capacity and 
Readily available soil moisture for plant use. 

(c) Rectangular weir and Cipoletti weir. 
(d) Actual Evapotranspiration and Potential 

evapotranspiration. 
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What is a current meter ? Describe its 	5 
components and use. 
Explain float method to measure velocity of 
flow of a flowing stream. 

Explain with a neat sketch, the method to 	5 
measure infiltration in the field. 
Explain the various factors affecting the 	5 
percolation losses in an area. 

	

6. 	12 cm of rainfall occurred for 2 hours in a 
catchment covering 50 ha area and in the next 6 
hours rainfall was zero. The catchment 
experienced runoff at the rate of 1.5m 3/sec for 8 
hours. Determine the following : 5+2.5+2.5=10 
(a) Volume and depth of runoff. 
(b) Amount of water not contributing to runoff. 
(c) Runoff coefficient. 

	

7. 	(a) Explain the phenomenon if (i) Water level 
in a stream is higher than the water table 
elevation and (ii) the water table elevation 
is higher than water level in the stream. 

(b) Explain the working of a Recording type of 
a rain gauge. How the rainfall intensity is 
calculated from the graph obtained from the 
gauge ? 4+6=10 

8. (a) What is water budgeting ? How water 
budgeting can be done through water 
balance equation. Briefly explain any one 
of the inflow and outflow component of the 
water balance equation. 1+2+4=7 

(b) Define uniform flow in an open channel. 
Write equation of continuity for the same. 

1.5+1.5=3 
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